Auction Title:255-21 Volleyball Bid Rfq Num: 32438

Equipment
4MO - Minumum order quantities to restrictive

1 . "	A	In	Harris Daniel Co.	0	LION	II O and Pari	D.C. I	Today de di Belor
<u>Ln #</u> 1	Award (Y/N) N	Reason 4MO	Item Description  Baden Perfection Volleyball #VX5EC- 210, leather - red/white/blue - no subs, district game ball		EA	Supplier PYRAMID SCHOOL PRODUCTS	39.99	Extended Price 999.75
	Υ					WINNING TEAMS BY NISSEL, LLC	40.88	1,022.00
						AMERICA TEAM SPORTS	43.95	1,098.75
						VARSITY BRANDS HOLDINGS CO INC	45.69	1,142.25
						PRO PLAYER SUPPLY	49.38	1,234.50
						DAN CAREYS SPORTING	51.50 53.50	1,287.50 1,337.50
2	Υ		Baden Lexum Microfiber Volleyball	55	EA	GOODS LTD PYRAMID SCHOOL	24.00	1,320.00
_			#VX450C, red/navy/white or approved equal			PRODUCTS	200	1,020.00
						WINNING TEAMS BY NISSEL, LLC	24.55	1,350.25
						AMERICA TEAM SPORTS	28.15	1,548.25
						VARSITY BRANDS HOLDINGS CO INC	28.49	1,566.95
						DAN CAREYS SPORTING	33.50	1,842.50
						GOODS LTD		
						PRO PLAYER SUPPLY RIDDELL ALL AMERICAN	34.38 38.65	1,890.90 2,125.75
3	Υ		Baden Lexum Composite Volleyball #VX450C - black/white/gray #1455254 or approved equal	48	EA	PYRAMID SCHOOL PRODUCTS	24.00	1,152.00
						WINNING TEAMS BY NISSEL, LLC	24.55	1178.40
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	28.15 33.50	1,351.20 1,608.00
						PRO PLAYER SUPPLY	34.38	1,650.24
4	Y		Baden Perfection Ball Hammock #BADENHAM, color to follow when order is placed or approved equal	4	EA	PRO PLAYER SUPPLY	34.38	137.52
						PYRAMID SCHOOL PRODUCTS	90.00	360.00
						WINNING TEAMS BY NISSEL, LLC	199.88	799.52
						AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD	245.00 290.00	980.00 1,160.00
5	Υ		Molten Volleyball #IV58L-U, white, no subs - district game ball	12	EA	VARSITY BRANDS HOLDINGS CO INC	43.98	527.76
						AMERICA TEAM SPORTS	47.50	570.00
						DAN CAREYS SPORTING	47.50	370.00
•	V		T-1"		E ^	GOODS LTD	0.1-00	- 0.77
6	Υ		Tachikara Ball Cart #BC-HAM, black, no subs	3	EA	WINNING TEAMS BY NISSEL, LLC	84.88	254.64
						PYRAMID SCHOOL PRODUCTS	90.00	270.00
						RIDDELL ALL AMERICAN	93.53	280.59
						VARSITY BRANDS HOLDINGS CO INC	94.98	284.94
						AMERICA TEAM SPORTS DAN CAREYS SPORTING	97.50 109.00	292.50 327.00
						GOODS LTD	100.00	021.00

Tachkara Sensi-Tec Volleyball, white   15 EA   PYRAMID SCHOLD   23.50   352.5   362.5   364.7   365.	Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
LLC	7		, , , ,				PYRAMID SCHOOL		352.50
AMERICA TEAM SPORTS   26.95   40.25							*	23.78	356.70
Send Volleyball Net #HM50, no subs   2 EA   SPORTS IMPORTS   21.574.5								26.95	404.25
RIDDELL ALL AMERICAN   27.58   413.7							DAN CAREYS SPORTING		412.50
Second Formal Process   Second Process							RIDDELL ALL AMERICAN	27 58	413.70
B   Y   Tachikara Composite Sensi-Tec Ball, white #S/9WSC. royal/white or approved equal   PYRAMID SCHOOL									422.85
### PRODUCTS ### P							HOLDINGS CO INC		
LLC	8	Υ		white #SV5WSC, royal/white or	30	EA		23.50	705.00
AMERICA TEAM SPORTS   25.95   808.55							*	23.78	713.40
RIDDELL ALL AMERICAN   27.58   627.4								26.95	808.50
VARSITY BRANDS									827.40
DAN CAREYS SPORTING   30.60   918.0									839.40
Senoh Volleyball Net #HM50, no subs   2 EA   SPORTS IMPORTS   408.75   817.5									
10								30.60	918.00
Subs   Senoth Volleyball System #SI-1, revolutional carbon upright HDNR-B, blik, heavy duty net ratchet & crank handle for SI-1, floor plates, floor sleeves, HM50 competition technora volleyball net complete with side ties, veloro side straps, dowel rods, net locks & net lock covers NAZ volleyball net antennas (pair) FP11 tapered saftey pad with custom lettering (per pad) DE73 international officials stand with wheels & adjustable legs OSP3 officials stand padding (specify color when order is placed) no subs schools are using this system   Senoth Heavy Duty Net Ratchet with crank handle, red #HDNR-R (DE10-DE11-S) no subs Senoth standards   Premium Power Phylo Boxes, set of 4 #SKU 20810 1- 12* 1 - 18* 1 - 24* 1 - 30*, or approved equal   Power-plyometeric Boxes, black powder coated, 36* height, or approved equal   DAN CAREYS SPORTING   225.00	9	Υ		Senoh Volleyball Net #HM50, no subs	2	EA		408.75	817.50
Senoh Volleyball System #SI-1, terolutional carbon upright HDNR-B, blk. heavy duty net ratchet & crank handle for SI-1, floor plates, floor sleeves, HMBO competition technora volleyball net complete with side ties, velcro side straps, dowed rods, net locks & net lock covers NA2 volleyball net antennas (pair) PT11 tapered safety pad with custom lettering (per pad) DE2 international officials stand with wheels & adjustable legs OSP3 officials stand availy buty Net Ratchet with crank handle, red #HDNR-R (DE10-DE11-S) no subs Senoh standards   Senoh Heavy Duty Net Ratchet with crank handle, red #HDNR-R (DE10-DE11-S) no subs Senoh standards   Premium Power Plyo Boxes, set of 4 #SKU 20610 1 - 12" 1 - 18" 1 - 24" 1 - 30", or approved equal   SET   SET   VARSITY BRANDS   349.98   349.98   349.98   349.99   3	10	Υ			2	PR	SPORTS IMPORTS	136.25	272.50
Volleyball net complete with side lies, vollero side straps, dowel rods, net locks & net lock covers NA2 volleyball net antennas (pair) FP11 tapered safety pad with custom lettering (per pad) DE73 international officials stand with wheels & adjustable legs OSP3 officials stand padding (speedly color when order is placed) no subs schools are using this system    Sench Heavy Duty Net Ratchet with crank handle, red #IDNR-R (DE10-DE11-S) no subs Senoh standards   Premium Power Plyo Boxes, set of 4 #5KU 20610 1 - 12" 1 - 18" 1 - 24" 1 - 30", or approved equal   DAN CAREYS SPORTING   S40.00   S	11	Υ		Senoh Volleyball System #SI-1, revolutional carbon upright HDNR-B, blk. heavy duty net ratchet & crank handle for SI-1, floor plates, floor	3	ST	SPORTS IMPORTS	7,191.50	21,574.50
Crank handle, red #HDNR-R (DE10-DE11-S) no subs Senoh standards				volleyball net complete with side ties, velcro side straps, dowel rods, net locks & net lock covers NA2 volleyball net antennas (pair) FP11 tapered safety pad with custom lettering (per pad) DE73 international officials stand with wheels & adjustable legs OSP3 officials stand padding (specify color when order is placed) no subs schools are using this system				0770 00	74100
13    Y	12	Y		crank handle, red #HDNR-R (DE10-	2	EA	SPORTS IMPORTS	370.60	741.20
14    Y	13	Υ		Premium Power Plyo Boxes, set of 4 #SKU 20610 1 - 12" 1 - 18" 1 - 24" 1	1	SET		349.98	349.98
14								540.00	540.00
DAN CAREYS SPORTING   225.00   450.0	14	Υ		powder coated, 36" height, or	2	EA	VARSITY BRANDS	85.98	171.96
15   Y   2021-2022 NFHS Volleyball Rule Book   20   EA   AMERICA TEAM SPORTS   12.50   250.0				аррточеа едиаг				225.00	450.00
Approved equal   HOLDINGS CO INC   AMERICA TEAM SPORTS   4.50   202.5	15	Υ		2021-2022 NFHS Volleyball Rule Book	20	EA		12.50	250.00
AMERICA TEAM SPORTS   4.50   202.5	16	Υ			45	EA		4.41	198.45
DAN CAREYS SPORTING   5.05   227.2				approved equal				4.50	202.50
Y Floor Marking Tape, 2" x 60 yards, color to follow when order is placed PRODUCTS  VARSITY BRANDS HOLDINGS CO INC DAN CAREYS SPORTING 10.00 5.50 55.00 55.00 55.00 55.00 55.00 55.00 55.00 50.0							DAN CAREYS SPORTING		227.25
VARSITY BRANDS         5.66         56.6           HOLDINGS CO INC         DAN CAREYS SPORTING         10.00         100.0	17	Υ			10 F	RL	PYRAMID SCHOOL	5.50	55.00
DAN CAREYS SPORTING 10.00 100.0							VARSITY BRANDS	5.66	56.60
1/20/01/8 (111)								10.00	100.00

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier		xtended Price
18	NA		Technora Indoor Volleyball Net #HM50. no subs	1			NB	NB
19	Υ		Triple Net Storage Rack #E25327,	1	EA	AMERICA TEAM SPORTS	195.00	195.00
			gray or approved equal	-		VARSITY BRANDS	199.98	199.98
						HOLDINGS CO INC PYRAMID SCHOOL	303.00	303.00
						PRODUCTS		
						DAN CAREYS SPORTING GOODS LTD	382.20	382.20
20	Υ		BSN Licorice Speed Rope, green, 9' #17209XXX or approved equal	10	EA	VARSITY BRANDS HOLDINGS CO INC	0.96	9.60
						PYRAMID SCHOOL PRODUCTS	1.05	10.50
						DAN CAREYS SPORTING GOODS LTD	2.05	20.50
21	Υ		BSN Licorice Speed Rope, black 10'	10	EA	VARSITY BRANDS	1.06	10.60
			#17210XXX or approved equal			HOLDINGS CO INC		
						PYRAMID SCHOOL PRODUCTS	1.09	10.90
						DAN CAREYS SPORTING GOODS LTD	2.45	24.50
22	Υ		Orange Champion Barbell Rubber	2	EA	VARSITY BRANDS	29.78	59.56
			Medium Ball - 11 lbs. #1266320, or approved equal			HOLDINGS CO INC		
23	Υ		Green Champion Barbell Rubber Medium Ball 13.2 lbs. #1266337 or approved equal	2	EA	VARSITY BRANDS HOLDINGS CO INC	32.98	65.96
24	N	4MO	Tachikara Setter Ball #GH09-084 no	2	EA	PYRAMID SCHOOL	25.20	50.40
	Υ		subs			PRODUCTS WINNING TEAMS BY NISSEL,	25.45	50.90
						LLC AMERICA TEAM SPORTS	32.50	65.00
						DAN CAREYS SPORTING	32.64	65.28
						GOODS LTD VARSITY BRANDS	32.98	65.96
0.5				L.,	O.T.	HOLDINGS CO INC	0.40	0.10
25	Y		6' Screamin Orange Quick Turn Speed Ropes #GH41-393 (set of 6) or approved equal	1	ST	VARSITY BRANDS HOLDINGS CO INC	8.16	8.16
26	Y		7' Screamin Orange Quick Turn Speed	2	ST	VARSITY BRANDS	8.34	16.68
			Ropes #GH41-394 (set of 6) or approved equal			HOLDINGS CO INC		
27	Υ		Light Ultra Fit Figure 8 Tubing #GH91- 212 or approved equal	3	EA	PYRAMID SCHOOL PRODUCTS	3.55	10.65
28			Medium Ultra Fit Figure 8 Tubing	3	EA	PYRAMID SCHOOL	3.95	11.85
29	NA		#GH91-213 or approved equal Light Ultra Fit Lateral Toner #GH68-	3		PRODUCTS	NB	NB
30	NA		835 or approved equal  Medium Ultra Fit Lateral Toner #GH68-	. 3			NB	NB
31	Υ		836 or approved equal TRX XMOUNT #1302059 no subs	4	EA	VARSITY BRANDS	33.91	135.64
32	Υ		TRX Commercial Suspension Trainer	4	EA	HOLDINGS CO INC VARSITY BRANDS	199.91	799.64
33	NA		#1377204 no subs AcuSpike Stackable Ball Cart, black -	3		HOLDINGS CO INC	NB	NB
			collapsible & stackable, side storage, 3 extension levels, roller black wheels,					
34	Υ		no subs BSN Volleyball Target Challenger Net	2	EA	VARSITY BRANDS	273.98	547.96
			#1274424 no subs			HOLDINGS CO INC AMERICA TEAM SPORTS	325.00	650.00
35	Υ		BSN Volleyball Net Extender	2	EA	VARSITY BRANDS	16.93	33.86
36	Y		#1303360, or approved equal BSN US Game Speed Ropes	20	EA	HOLDINGS CO INC PYRAMID SCHOOL	0.99	19.80
			#1040067, or approved equal			PRODUCTS VARSITY BRANDS	1.41	28.20
						HOLDINGS CO INC		

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
37	Υ		Tandem Net Zone System	1	EA	AMERICA TEAM SPORTS	115.00	115.00
			#TSNETZONESYS, colored canvas					
			sleeve that secures to top of net with					
			velcro to clearly indicated net zones 1					
			through 9, no subs					
38	NA		Spectrum Volleyball Precision Trainer,	2			NB	NB
			adjustable & portable target trainer to					
			improve precision passing, setting or					
			hitting, no subs					